N = 0l & AF & F Al A

2 E2nEN
MM C2UNEW

o

15 (45U RE/ER)
< =

0% J

CHel: 2OLXIX = EERL
_ _ _ N E
SN FB - S2A(3) - MEAY - BES 0 &t o4 e HRE2

CRIEY 179,657,567 212,866,304 133,208,737
= 3,300,000
2 71,383,000
= 6,006,600
= 98,967,967

CENSYHE(+LLNE/ER) 153,899,989 188,732,550 134,832,561
2 69,583,000
= 84,316,989

ZUANNLE 25 64,264,000 84,418,680 A20, 154,680
o 55,953,000
= 8,311,000

M~Q82 £2 2 ZZTAHZD) 10, 150,000 10, 100,000 50,000
2 10,000,000
= 150,000

401 Al&HI 2SO 10, 150,000 10, 100,000 50,000
2 10,000,000
= 150,000

01 Al&H 9,695,000 9,560,000 135,000
OANABA L BB 7 9,545,000
= 9,545,000
O8N, NS L JIEH2A 150,000

02 22l 430,000 500,000 A70,000
oz A2l 430,000
= 430,000

03 Al&SCHYI 25,000 40,000 15,000
OB AR CHY 25,000
2 25,000

AL 2 B ERIA(2D) 6,864,000 14,502,000 7,638,000
= 6,778,000
= 86,000

401 Al&H 2SO 6,864,000 14,502,000 7,638,000
= 6,778,000
= 86,000

01 Al 6,669,000 14,209,000 7,540,000
OANATA L 2SI 7 6,583,000
= 6,583,000
OEX, NS < JIEt2asy 86,000

02 22l 178,000 263,000 85,000
oz A2l 178,000
= 178,000

03 Al& 2 CHI 17,000 30,000 13,000
OB A= CHY 17,000
2 17,000

HAEHY 2 2 ZZBAN(RD) 16,421,000 20,500,000 4,079,000
2 15,871,000




22X E2nEN
MM C2NEW

for

15 (+5UDE/ER)
< =

0% J

e 2IMA 2 A = (cte- &
S EH . S(BH) - NEAY - B2 Ol AF o4 gggf; HDE2

= 550,000

401 AISHIL L] 16,421,000 20,500,000 4,079,000
2 15,871,000
o= 550,000

01 Al&H| 15,987,000 19,991,000 A4,004,000
OAESAH & 22X 2L 15,437,000
= 15,437,000
OZX, XN&E2 & Jlets=aga 550,000

02 22yl 397,000 479,000 A 82,000
O3 A2 2| 397,000
Z 397,000

03 Al&S0HYI 37,000 30,000 7,000
O3S AF2UbI 37,000
Z 37,000

Hob~5lS2t £ 2 & HEAEZAH(Z1D) 9,099, 000 8,750,000 349,000
2 8,650,000
== 449,000

401 Al&HIZ 20| 9,099, 000 8,750,000 349,000
Z 8,650,000
& 449,000

01 Al&H| 8,707,000 8,200,000 507,000
OAESAH & 22X 2L 8,258,000
= 8,258,000
OZX, AN&E2 & J|et=a8a 449,000

02 Ze2ldl 370,000 520,000 A 150,000
O 2 A2l 370,000
Z 370,000

03 AlI&E20HYI 22,000 30,000 28,000
OZ2AL204Hl 22,000
Z 22,000

SHAS AL E2 SEAEDAN(ZD) 12,996,000 9,290,000 3,706,000
Z 9,454,000
& 3,542,000

401 AlEHIZ 204 12,996,000 9,290,000 3,706,000
Z 9,454,000
& 3,542,000

01 Al&H| 12,720,000 9,000,000 3,720,000
OAESAH & 22X 2L 9,178,000
2 9,178,000
OZX, AN&E2 & J|et=aE A 3,542,000

02 Ze2lgl 247,000 270,000 A 23,000
O 2 A2l 247,000
& 247,000

03 Al 20Hb] 29,000 20,000 9,000




SN
X XH .
S Tt

oLk

SRS
CEREYHRE($5Y
c st
=

ESIUNE=PN

0% J

_ _ pSNE e
SH-EFHHA(FA) - NIRAE - BES O AFH 'Oﬁ,‘\ja‘g Hws2
CERELT] 29,000
2 29,000
AN} 2 HERIA(ZD) 6,290,000 7,900,000 A 1,610,000
2 5,200,000
= 1,090,000
401 AlZHI 2SO 6,290,000 7,900,000 A 1,610,000
2 5,200,000
= 1,090,000
01 Al&H 6,025,000 7,650,000 A 1,625,000
ONATA L 2SI 7 4,935,000
2 4,935,000
O8N, NES ¥ JIEeaes 1,090,000
02 22/t 250,000 230,000 20,000
CENELE 250,000
2 250,000
03 Al& =0 15,000 20,000 A5,000
OZAHETH B 15,000
2 15,000
DAET CRAY =X 2,444,000 2,310,680 133,320
402 Q12X 20| A 2,444,000 2,310,680 133,320
01 D2 EEx 2,444,000 2,310,680 133,320
OUINZEHE S#E 22 28 2,000,000
ODIAIZEE Soa 20 a2 444,000
pNETEE 89,635,989 104,313,870 A 14,677,881
2 13,630,000
= 76,005,989
NgT2el L HLAISX 2,204,725 1,411,870 882,855
101 QI2A4H| 44,670 44,670 0
04 JIZH2RTSE S 44,670 44,670 0
OXYE DESZA 22| 44,670
201 Pt | 32,000 32,000 0
01 AtR 22l 32,000 32,000 0
0298 AER 17,000
ONELS2MWLUHACS 2% 10,000
OAMIIz HAKRIO 2 5,000
202 OfH| 8,900 8,200 700
01 2LHoiH 8,900 8,200 700
O2HAY U XYT 2| LREO 8,900
207 1R 59, 155 277,000 217,845
01 gyl 59,155 277,000 217,845
0ET2PE NETHAK 59,155




AN E2nER
I CRUSUHS(+SLUE/ER)
cels Mg &3 (ol &d)
- _ o AT
SN -3 S2ARAH) - MFAY - BES Off &4 Ol & o8 HlunsSZ
401 AlZBIL ST 250,000 250,000 0
01 Al&H 250,000 250,000 0
OXgE MEEX 24 250,000
403 XX SHMEX=01® 1,900,000 800,000 1,100,000
01 XXESHMA=2EE 1,900,000 800,000 1,100,000
02k & S0EZZ 32 1,900,000
Nge stz 30,000,000 30,000,000 0
401 AlEHI LSO 30,000,000 30,000,000 0
01 Al&H 25,163,040 25,298,000 A 134,960
ONLE =ud 25,163,040
02 el 4,636,960 4,502,000 134,960
onNge =Hux 4,636,960
03 Al&=0H] 200,000 200,000 0
ONgE =ud 200,000
NLge Heed ot 35,000,000 50,000,000 A15,000,000
401 AlZHIZL 2T 35,000,000 50,000,000 ~15,000,000
01 Al&H 34,302,200 50,000,000 A 15,697,800
OXgE Egs & sud 34,302,200
02 el 697,800 0 697,800
OXNgE s & =Hud 697,800
NLe XA FHl 3,421,264 1,400,000 2,021,264
401 AlEHI LSO 3,421,264 1,400,000 2,021,264
01 Al&H 3,421,264 1,400,000 2,021,264
LEAE DY Wit 2,711,264
OXNgE 28Tz ¥ W Iyl 710,000
NLE 0I8X rMsty 105,000 105,000 0
201 L2 35,000 35,000 0
02 3322l 35,000 35,000 0
OXZETAID oitHa SHE 35,000
305 HHAZE 20,000 20,000 0
01 a3 s 20,000 20,000 0
OXZLETAD Eoltiaz3 20,000
401 AlEHIL 2O 50,000 50,000 0
01 Al&H 50,000 50,000 0
oxgEAHel® &x 50,000
YET2 AXNE(21) 11,306,000 13,459,000 A2,153,000
6,916,000

H o

4,390,000




AN E2nER
I CRUSUHS(+SLUE/ER)
cels Mg &3 (o &e
SN -3 S2ARAH) - MFAY - BES Off &4 glggfg HlunsSZ
401 AlZBIL ST 8,780,000 10,354,000 A 1,574,000
2 4,390,000
= 4,390,000
01 Al&H] 8,758,000 10,329,000 A 1,571,000
OANESA X 2SI 7 8,758,000
2 4,368,000
= 4,390,000
03 Al& =0 22,000 25,000 ~3,000
O3 AR 22,000
2 22,000
403 TtXISHA S0l d 2,526,000 3,105,000 A579,000
2 2,526,000
01 XXIESHMA=EE 2,526,000 3,105,000 A579,000
OAl, =2 FEEZRENH 2,526,000
2 2,526,000
WEAMDIRSRIMH(Z1) 1,795,000 1,176,000 619,000
2 1,528,000
= 267,000
401 AlZBIL ST 534,000 304,000 230,000
= 267,000
= 267,000
01 A& 534,000 304,000 230,000
OANESA X 2SI 7 534,000
2 267,000
= 267,000
403 XiXISHH S X201 1,261,000 872,000 389,000
2 1,261,000
01 XXM EE 1,261,000 872,000 389,000
OAl,Z BEADRER I 1,261,000
2 1,261,000
HEloI25 AN (2D) 5,714,000 6,762,000 A1,048,000
2 5,186,000
= 528,000
401 AlEHIL 2O 1,056,000 1,196,000 A 140,000
2 528,000
= 528,000
01 Al&H 1,056,000 1,196,000 A 140,000
OANESA 2 2GR 7 1,056,000
2 528,000
= 528,000
403 XiXISHH S X201 4,658,000 5,566,000 908,000
2 4,658,000
01 XIS E 4,658,000 5,566,000 908,000
OAl,Z OfRI0I2E 7Y I 4,658,000
2 4,658,000




A CR2UED
MM PDEMH WH(ESLWE/HWSLE - SFEDIE
2. WSS AElA gkal (¢t &
S EH . S(BH) - NEAY - B2 0fl Ak o gggf; HDE2
DNEHH HE(ELNE/HEWE - SEFSIIEY 14,166,500 12,951,450 1,215,050
= 3,300,000
Z 1,800,000
= 5,936,600
& 3,129,900
=S AHlA skat 6,044,900 5,398,450 646,450
= 3,300,000
Z 1,800,000
& 944,900
sns Ml A 484,900 438,450 46,450
202 (4| 50,500 46,800 3,700
01 2 obl 50,500 46,800 3,700
OUHZEZNE 28 Y XAHAHIAIY SXIEQl 37,800
O & FI2XNSK SAY X & 12,700
403 NXISHHS K20l 434,400 341,650 92,750
01 XXICGH X222 xR 434,400 341,650 92,750
OEAIGA DI ZEHXIAEX 434,400
HAHA E2(=21) 960,000 2,960,000 A 2,000,000
= 600, 000
& 360,000
403 XNXISHMS 20| 960, 000 2,960,000 A 2,000,000
= 600, 000
o= 360,000
01 AXICSHA=2E xR 960,000 2,960,000 A 2,000,000
OMAHA = 960, 000
= 600,000
& 360, 000
SISASANZ2Y9XNDANHALERNR(=21D) 1,800,000 1,500,000 300,000
& 1,800,000
403 XXISHSK=201A 1,800,000 1,500,000 300,000
Z 1,800,000
01 AXESHA=2EER 1,800,000 1,500,000 300,000
Ost=sksxt 2 XX HE 1,800,000
Z 1,800,000
SIEX SHA ALK (=2D) 2,700,000 500,000 2,200,000
= 2,700,000
403 XXIEMS K201 2,700,000 500,000 2,200,000
= 2,700,000
01 MXSAHX2E=x 2,700,000 500,000 2,200,000
OF2x SAHA HE K& 2,700,000
= 2,700,000
ANEE SIZ2ANSK 2XAFS 100,000 0 100,000
308 XMXISHHSOIN 100,000 0 100,000




M E20SH
MM PDEMH WH(ESLWE/HWSLE - SFEDIE
Chel: LIEDEAMHIA gt (el a2
SN (B) - MBEAY - B2 0fl Ak o gggf; HDE2
01 AIXESMINEBEZ 100,000 0 100,000
oAMNgE SISXNsSX XA 100,000
s MEXA 8,121,600 7,553,000 568,600
= 5,936,600
= 2,185,000
2L WAEA 3,570,000 3,200,000 370,000
= 1,785,000
== 1,785,000
307 212t0|A 3,570,000 3,200,000 370,000
= 1,785,000
== 1,785,000
09 S2xHAHEXZS 3,570,000 3,200,000 370,000
OAHAZSSAMY MEXS 3,570,000
= 1,785,000
= 1,785,000
S2SAMYE HEXH 3,760,000 3,566,000 194,000
= 3,760,000
308 AHXIEHHI SO 3,760,000 3,566,000 194,000
= 3,760,000
01 AXESHMIMNEEZ 3,760,000 3,566,000 194,000
OANUW,=sHEHA SSAIE HEXE 3,760,000
= 3,760,000
HIAEH &ABA 600,000 606,000 6,000
= 200,000
& 400,000
308 AHXIEHHISOI A 600, 000 606,000 26,000
= 200,000
= 400,000
01 IXSHHABAMNBEEZ 600,000 606,000 26,000
O g =A84 600,000
= 200,000
= 400,000
QAREAN SSHAKXA 191,600 181,000 10,600
= 191,600
308 AtXIEHHMISOIA 191,600 181,000 10,600
= 191,600
01 AXSMMINMNEEZ 191,600 181,000 10,600
O 2ANEN SgEHAXR 191,600
= 191,600
HELSAAY(E2 DS (JIEH/DIEH 49,335 45,785 3,550
Jl2&Hh| 49,335 45,785 3,550
229 JIS2&H| 49,335 45,785 3,550
201 LBEH29H| 36,375 33,785 2,590
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S Tt

el

U O of
H
HU
EJ
O
[
mn
Ok
He
EJ
O
H
@

SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
82 FERMA 200,548 145,500 55,048
311 X 20| XHakst 200,548 145,500 55,048
01 Al - EXYGHED | 2X 20| KHAHE 200,548 0 200,548
O'09REER REME(KIHINLI=) 200,548




